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Abstract

One of the environmental threats that our planet faces today is the greenhouse effect. The
global warming problem is caused by livestock production which releases CO, and CH, to the
atmosphere. Dairy cows, ox, and buffaloes are herbivores while pigs, chickens, and hens are
energy-using that are raised for their meat, milk, eggs, and all produce emissions of both CO, and
CH,. Therefore, it is important to determine carbon emitted factors, to investigate the rate of carbon
massflow from plants to dairy cows, ox, buffaloes, pigs, chickens, and hens, and to study the
carbon emission in energy patterns that are used in meat, milk, and egg production from dairy cow,
ox, buffalo, pig, chicken, and hen farms and slaughterhouses, in 26 districts and 6 subdistricts of
Nakhon Ratchasima province. Samples of grass and food used for feeding in meat production and
the feces produced were collected and transferred to the laboratory for analysis. The study showed
that the carbon emitted per living weight from dairy cows, ox, buffaloes, pigs, chickens, and hens
and emission from farms, and slaughterhouses in meat production were 0.0072, 0.0066, 0.0051,
0.0339, 0.0851 and 0.0450 kg. C/kg. living weight/day, respectively. The carbon fixation in milk,
meat, organs and eggs from dairy cows, ox, buffaloes, pigs, chickens, and hens were 0.0095,
0.0102, 0.0104, 0.0062, 0.0111, and 0.0136 kg.C/living weight/day, respectively. The rate of
carbon massflow from grass and animal feed was 0.0154, 0.0148, 0.0143, 0.0087, 0.0184, and
0.0220 kg.C/living weight/day, respectively. The carbon emission from the buffalo was 27.67% of
the carbon contents that were transferred to buffalo by feeding. On the other hand, emitted carbon
from chickens, dairy cows, hens, ox, and pigs were 39.53%, 38.60%, 38.10%, 30.85%, and
28.78%, respectively. The carbon emitted from chicken meat production increased environmental
problems more than from ox, pig, and buffalo meat production, milk, and egg production,
respectively. The results also showed that carbon fixation in the buffalo was 72.33%, pig was
71.22%, ox was 69.15%, hen was 61.90%, dairy cow was 61.40%, and chicken was 60.47%. For an
equal quantity of meat production it can be suggested that decreasing ox and chicken meat
production and increasing buffalo and pig meat production can decrease the environmental
problems. The carbon contents emitted from dairy cows, ox, buffaloes, pigs, chickens, and hens can
be determined from the rate of carbon massflow from plants (Sig. F < 0.05) by using the equation
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